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CLASS-XI 

SUBJECT – ECONOMICS  SET 2 

Time: 3 Hour          Marks: 80 

General Instructions: 

1. All questions in both the sections are compulsory. 

2. Marks for questions are indicated against each question. 

3. Questions No.1-10 and 18-27 are MCQ or Objective type questions carrying 1 mark each. 

They are required to be answered in one sentence each. 

4. Questions No. 11-12 and 28-29 are short-answer questions carrying 3 marks each. 

Answers to them should normally not exceed 60 - 80words each. 

5. Questions No. 13-15 and 30-32 are also short-answer questions carrying 4 marks each. 

Answers to them should normally not exceed 80 - 100 words each. 

6. Questions No. 16-17 and 33-34 are long-answer questions carrying 6 marks each. 

Answers to them should normally not exceed 100 – 150 words each. 

7. Answers should be brief and to the point and the above word limits should be adhered 

to as far as possible. 

PART (A) STATISTICS FOR ECONOMICS 

1. अप्रत्यक्ष मौखिक ज ाँच विधि ग्रस्त है________ स े   

 1 

(1) पूि ाग्रह                     

(2) संदेहपूर्ा निष्कर्ा 
(3) अशुद्ित  
(4) उपरोक्त सभी | 

       Indirect oral investigation method suffers from__________:- 
(a) Bias 

(b) Inaccuracy 

(c) Doubtful conclusion  

(d) All of the above 
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2. इस पद्िनत में िमिू  चयि अन्िेर्क की पसंद पर निभार करत  है |          

 1 

(1) कोट  प्रनतदशा 
(2) समूह प्रनतदशा 
(3) सविच र प्रनतदशा 
(4) उपरोक्त में स ेकोई िह  ं

       In this method sample selection depends on the choice of the Investigator: -  
(a) Quota sampling   (c) Cluster sampling  

(b) Purposive sampling  (d) None of these 

 

3.  समय िुस र िर्गीकरर् को पररभ वर्त कीजजए |       

 1 

   अथि  
    िर्गीकरर् क  एक ल भ बत ओं |           

Define Chronological Classification. 
   OR 
State the objectives of classification. 

4.  _______________ की र्गर्ि  में सभी मदों को सम ि महत्ि ददय  ज त  है|   

 1 

(1) सरल सम न्तर विधि 

(2) मध्यक  
(3) बहुलक 

(4) उपरोक्त सभी | 

In calculation of ____________, all items are given equal importance. 
(a) Simple arithmetic mean  

(b) Median 

(c) Mode 

(d) All the above 
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5.  कौि स  औसत सीम न्त मलू्यों से प्रभ वित होत  है?         

 1 

(1) म ध्य 

(2) बहुलक 

(3) मध्यक  
(4) उपरोक्त में स ेकोई िह  ं

Which average is affected by extreme values?  
(a) Mean    

(b) Mode 

(c) Median  

(d) None of the above 

6.  सम वितरर् रेि  उद्र्गम कें द्र से _________ कोर् बि ती है |     

 1 

Line of equal distribution makes an angle of ________ at the origin. 

7. ल रेन्ज िक्र अपककरर् को म पिे की ग्र किक विधि है      (सह /र्गलत)    

  
 Lorenz curve is a graphic method to calculate dispersion. (True/ False) 

8.   सरल सह-संबंि र्गुर् ंक की सीम  है-        

 1 

(1) शून्य से अिन्त तक 

(2) शून्य से ऋर् त्मक एक तक 

(3) ऋर् त्मक एक से िि त्मक एक तक 

(4) िि त्मक एक से अिन्त तक 

 
The range of coefficient of correlation is: - 
(a) Zero to infinity 

(b) Zero to minus one  

(c) Minus one to plus one 

(d) Plus one to infinity 
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9. यदद 25% मदें 20 स ेकम है तथ  25% मदें 40 स ेअधिक है तो चतुथाक विचलि होर्ग  – 

(क) 20 

(ि) 30 

(र्ग) 40 

(घ) 10            1

   
If 25% of items are less than 20 and 25% are more than 40, then the quartile 
deviation is:- 

(a) 20     

(b) 30 

(c) 40 

(d) 10 

10. स म न्यत: मुद्र  स्फीनत के म पि हेतु उपयोर्ग ककय  ज त  है |      

  

(1) थोक मूल्य सूचक ंक 

(2) उपभोक्त  मूल्य सूचक ंक 

(3) उत्प दक मूल्य सूचक ंक 

(4) उपरोक्त सभी 

In general, Inflation is calculated by using: - 
(a) Wholesale price index 

(b) Consumer price index 

(c) Producer’s price index 

(d) None of the above 

11.  सरक र और िीनत निम ात  आधथाक विक स के ललए उपयुक्त िीनतयों को तैय र करिे के ललए   स ंखिकीय 

आंकड़ो क  उपयोर्ग करत ेहै | दो उद हरर् से प्रनतपुजष्ट कीजजए |       

 3 

The government and policy makers use statistical data to formulate suitable policies of 
economic development”. Illustrate with two examples.  

12. प्र थलमक आंकड़ों तथ  द्वितीयक आंकड़ों के मध्य अंतर स्पष्ट कीजजए |     

 3 

अथि  
द्वितीयक आंकड़ों के प्रयोर्ग करते समय कौि-कौि सी स िि नियों क  ध्य ि रिि  आिश्यक है|               3 
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Distinguish between Primary data and Secondary data. 
OR 

 What precautions are to be kept in mind while using secondary data? 

13. निम्िललखित सूचि  को ितृ्तीय आरेि द्ि र  ददि इए:       

 4 

एक घर के निम ार् पर िस्त ुव्यय ििर लश 

श्रम 10,000 

ईंट  3000 

सीमेंट 5000 

संर्गमरमर 2000 

   अथि  
निम्िललखित आंकड़ो की सह यत  से आिती बहुभुज बि ओ |      

 4 

अंक (स े

कम) 

5 10 15 20 25 

छ त्रों की 
संख्य  

3 13 33 73 83 

Represent the following information in Pie diagram. 

Item of 
expenditure 

Labour Bricks cement Marble  

Amount       
(in Rs.) 

1000 3000 5000 2000 

     
      OR 
Construct frequency polygon for the following data (use histogram) 

Marks 
(less 
than) 

5 10 15 20 25 

No. of 
students 

 13 33 73 83 

 

14. निम्िललखित आकड़ों से म जध्यक  ज्ञ त कीजजए:       

 4 

िर्ग ान्तर 0-10 10-20 20-30 30-40 40-50 

आिवृत्त 5 15 25 8 3 
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Calculate median from the following set of data: 

Class 
interval  

0-10 10-20 20-30 30-40 40-50 

Frequency 5 15 25 8 3 

 

15. एक क व्य प ठ प्रनतयोधर्गत  में दो निर् ायकों िे 5 प्रविजष्टयों (प्रनतभ धर्गयों) को निम्ि प्रक र से अंक प्रद ि ककये 

है| शे्रर्ी अंतर विधि द्ि र   सह-सम्बन्ि र्गुर् ंक ज्ञ त कीजजए |      

 4 

निर् ायक X 90 20 36 78 45 

निर् ायक Y 20 70 55 46 52 

In a poetry recitation competition, 5 participants were accorded were following marks by 
two judges X and Y. Calculate coefficient of correlation by rank method. 

X Judge  9
0 

20 36 78 45 

Y Judge  2
0 

70 55 46 52 

 

16. निम्िललखित आकड़ों की सह यत  स ेम जध्यक  स ेम ध्य विचलि और म ध्य विचलि र्गुर् ंक ज्ञ त कीजजए| 

             6 

अंक 0-5 5-10 10-15 15-20 20-25 

विद्य धथायों की 
संख्य  

4 7 8 5 6 

अथि  
निम्ि आंकड़ों के आि र पर म िक विचलि तथ  म िक विचलि र्गुर् ंक ज्ञ त कीजजए |   

 6 

अंक 0-4 4-8 8-12 12-16 

विद्य धथायों की 
संख्य  

4 8 2 1 

Calculate mean deviation and it’s co-efficient from the following data using median. 

Marks  0-5 5-10 10-15 15-
20 

20-25 

No of 
students 

4 7 8 5 6 

 
OR 

Find out standard deviation and its coefficient from the following data. 

Marks  0-4 4-8 8-12 12-16 
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No of 
Student
s  

4 8 2 1 

 

17. (a)“सूचक ंक आधथाक बैरोमीटर है” | ददए र्गए कथि को उधचत बबदंओुं के स थ समझ ओ | 

(b) सूचक ंक को तैय र करिे के ललए आि र िर्ा क  चुि ि करते समय ककि-ककि ब तों को ध्य ि में रिि  
च दहए |           

 (4 + 2 =6) 
 
(a) “Index numbers are economic barometers”. Explain the given statement with 
appropriate points. 

     (b)What precaution should be taken, while selection of base year. 
PART (B) MICRO ECONOMICS 

18. अिसर ल र्गत क  एक उदह रर् द जजए |   

 1 

Give an example of opportunity cost. 

19. र्गर्ि त्मक दृजष्टकोर् के अिुस र, उपयोधर्गत  को________म प  ज त  है|(सह  विकल्प क  चयि 

कीजजए|     1 

(1) रूपये में 
(2) क्रम में 
(3) यूदटल में  
(4) इक इयों में 

According to cardinal approach, utility is measured in terms of:- 
(a) Rupees     (c) Ranks 

(b) Utils    (d) Units 

20. बजट रेि  क  समीकरर् ललखिए|        

 1 

अथिI  

       सीम न्त उपयोधर्गत  को पररभ वर्त कीजजए |        

 1 

 Give the equation of the budget line.  
  OR 
     Define marginal utility. 
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21. अि धिम ि िक्र के उत्तल होिे क  क रर् सम सीम न्त उपयोधर्गत  नियम है|(सह /र्गलत)    

 1 

      The reason behind the convex shape of the Indifference curve is the law of Equi-
Marginal utility.            
 (True/false) 

22. एक उत्प दक व्यिस य चल िे के ललए ऋर् लेत  है लेककि व्यिस य क  प्रबंिि स्ियं करत  है| अंतनिादहत 

ल र्गत की  पहच ि कीजजए|          

 1 

A producer borrows money to run a business but manages himself. Identify implicit cost. 

23. एक फमा एक िस्तु की अधिक म त्र  केिल कीमत कम करके ह  बेच सकत  है| उसकी सीम न्त संप्र जतत 

(सीम न्त आर्गम)___________________(सह  विकल्प चुनिए)     

 1 

(1) औसत संप्र जतत (आर्गम) स ेअधिक होर्गी | 

(2) औसत संप्र जतत (आर्गम) स ेकम होर्गी | 

(3) औसत संप्र जतत (आर्गम) के  सम ि होर्गी | 

(4) शून्य होर्गी | 

        A firm is able to sell more quantity of a good only by lowering the price. The firm’s 
marginal revenue,             as he goes on selling, would be: 

(a) Greater than average revenue  

(b) Less than average revenue  

(c) Equal to average revenue  

(d) Zero 

 

24. एक फमा की सीम न्त आर्गम इस ब ज र में निरंतर जस्थर रहती है: (सह  विकल्प चुनिए)        

 1 

(1) पूर्ा प्रनतयोधर्गत   
(2) एक धिक ररक प्रनतयोधर्गत   
(3) अल्प धिक र  

(4) उपरोक्त में स ेकोई िह  ं| 

Marginal revenue of a firm is constant throughout under this market (Choose the 
correct alternative) 

(a) Perfect competition  
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(b) Monopolistic competition  

(c) Oligopoly 

(d)All the above 

25. यदद 5 इक इयों की कुल ल र्गत 30 रुपये है| और कुल जस्थर ल र्गत 5 रूपये है तो 5 िी ंइक ई के उत्प दि की   
औसत पररितािशील ल र्गत होर्गी|         

 1 

(क) 25 

(ि)  6 

(र्ग)  5 

(घ)  1 

The total cost at 5 units of output is Rs. 30. The fixed cost is Rs. 5. The average 
variable cost at 5 units of output is 
(a) Rs. 25 

(b) Rs. 6 

(c) Rs. 5 

(d) Rs. 1 

 

26.”केिल कुछ बड़े विके्रत ” इसकी विशेर्त  है : (सह  विकल्प चुनिए)     

 1 

(1) पूर्ा प्रनतयोधर्गत   
(2) एक धिक ररक प्रनतयोधर्गत   
(3) अल्प धिक र  

(4) उपरोक्त में स ेकोई िह  ं 

    “A few big sellers” is a characteristic of:- 
(a) Perfect competition  

(b) Monopolistic competition 

(c) Oligopoly 

(d) None of the above 

27. पूर्ा प्रनतयोधर्गत  में एक फमा अपिे उत्प द की विलभन्ि कीमत क्यों िह  ंिसूल सकती है?       

 1  

      Why can’t a firm under perfect competition charge  different prices for its product? 
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28. अिब र की निम्िललखित ख़बरों में से सक र त्मक अथाश स्त्र य   आदश ात्मक अथाश स्त्र विश्लेर्र् कथिों को 
पहच निए तथ  वििेचि  करें:-         

 3 

(1) “भ रत विश्ि बैंक के व्य प र सूचक ंक के 23 प यद ि की छल ंर्ग लर्ग कर77 िें स्थ ि पर पहुाँच ,यह दो िर्ों 
में सबसे लम्बी छल ंर्ग है”|   -The Economic Times 

(2) सरक र को व्य प र नियमों क  उद र करर् आर्गे भी ज र  रिि  च दहए| 

- The Economic Times 

Identify and discuss the nature of following newspaper reports in terms of positive or 
normative economics analysis: 
(a) “India jumped 23 points in the world bank’s ease of doing business index to 77th 

place, highest in 2 years.”  

----- The Economic Times 

(b) “Government should further liberalise the business rules”  

----- The Economic Times 

29. आधिकतम कीमत निि ारर् क  अथा और इसके पररर् म समझ इए|     3 

 अथि  
    एक िस्त ुकी म ाँर्ग में ‘िदृ्धि’ के क रर् होिे ि ले प्रभ िों की शं्रिल  समझ इए|   

 3 

 
Explain the meaning of “price ceiling” and its implication. 

    OR 
Explain the chain effect of “increase in demand”of a good. 

30. एक िस्त ुकी म ाँर्ग पर उपभोक्त  की आय बढ़िे के प्रभ ि समझ इए |    

 4 

Explain the effect of change in income of a consumer on demand of a good. 

31. निम्िललखित त ललक  को पूर्ा कीजजए |        4 

उत्प दि 

(इक इयों में) 
कुल 

ल र्गत 

 

औसत 

ल र्गत 

  

सीम ंत ल र्गत  

1 70   

2 100   

3   5 

4   10 
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 Complete the following table       

Output  
(Units) 

TC 
 

AC 
  

MC  

1 70   

2 100   

3   5 

4   10 

 

32. निम्िललखित के पररर् म समझ इए:         

 4 

(1) एक धिक ररक प्रनतयोधर्गत  के उत्प द विभेद 

(2) पूर्ा प्रनतयोधर्गत  में पूर्ा ज्ञ ि 

अथि  
निम्िललखित के पररर् म समझ इए: 

(1) अल्प धिक र में फमों के बीच परस्पर निभारत  

(ि)पूर्ा प्रनतयोधर्गत  में विके्रत ओं की बड़ी संख्य  
 Explain the implication of the following:- 
(A) Product differentiation in Monopolistic competition 

(B)Perfect knowledge in perfect competition. 

OR 

Explain the implication of the following:- 
(A)Interdependence between firms in oligopoly 

(B)Large number of sellers in perfect competition. 

 

 

33. ऐस  उत्प दि फलि ककस प्रक र क  है जजसमें केिल एक आर्गत की िदृ्धि की ज ती है जबकक अन्य आर्गतों को 
जस्थर रि  ज त  है| ऐसे उत्प दि फलि में कुल उत्प द तथ  सीम न्त उत्प द के व्यिह र को स्पष्ट कीजजए| 

रेि धचत्र क  उपयोर्ग कीजजए|           

  6 
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दृजष्टह ि पर क्ष धथायों के ललए प्रश्ि 

पररिताशील अिुप त के नियम की त ललक  सदहत व्य ख्य  कीजजए |     

  
 
 
What type of production function is this, in which only one input is increased and other 
kept constant? State the behavior of total product and marginal product in this production 
function. Use diagram. 
 
 
FOR BLIND CANDIDATE 
 
Explain the law of variable proportions with the help of table. 

34. अि धिम ि िक्र विच रि र  क  उपयोर्ग करके उपभोक्त  सतंुलि की शतों  की व्य ख्य  कीजजए|  

 6 

अथि  
एक उपभोक्त  केिल दो िस्तुओं A तथ  B क  उपभोर्ग करत  है तथ  स म्य िस्थ  में है| यदद िस्त ुB की कीमत 

बढ़ती है,तो उपयोधर्गत  विश्लेर्र् के अंतर्गात उपभोक्त  की संभ वित प्रनतकक्रय  की व्य ख्य  कीजजए| 

             
    
Explain the conditions of consumer’s equilibrium using Indifference curve analysis.  

OR 
A consumer consumes only two goods A and B is in equilibrium. If the price of good B 
rises. Explain the likely reaction of the consumer under the utility analysis. 
 
 

END OF PAPER 
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